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Q.1 STeR hT SRR GHAT____ T STTAT &, dTich Seooieh (emitter) & o=

mﬁmﬁaﬁatmmaﬂméﬂﬁgﬂﬁmqaaﬂzww@on b
e g s .

Ans X A werm
X B3
X C.ae

Question ID : 673502626
Status : Answered
Chosen Option : 4

o 0.5 < %
0 ‘ Question Type : MCQ

ufaarer gt @ ik enseye ufdemen sRra= g @l

Question Type : MCQ
Question ID : 673502631
Status : Answered
Chosen Option : 3




Q.3 = 7 & Fiw 91 vy fgte uRonfas & H@edu | 5 &2
Ans  off A S @t
X B. Rt uRonfR, Rifteam Suewon & uie fhg o &1
X C.nufde ofR e greferal dudhia w0 & gfird gt &1
X D. wrfies ok e greforar R ®u @ gue gt &1

Question Type : MCQ
Question ID : 673502624
Status : Answer
Chosen Option :

Q.4 For linear (least distortion) amplification purposes, cutoff for the commeon-emitter configuration will be defined by:

Ans XAIﬂ:O
< B Icgo=Iceo
ClIe=1
W ¢ Ic=Icxo °
& 0. Ic=1Igro

Question Type : MCQ
Question ID : 673502659
Status : Not Answered
Chosen Option : =

Q5 gt fmmr T AT w9 AF. (JK) T 1 gfafafes war &2

Question Type : MCQ
Question ID : 673502637
Status : Answered
Chosen Option : 2




Q.6 fAfeeRi smenfa pn S & g IeepfAa Hqfta Rt & ufkwrer $i wIfE (Order of magnitude)
— g g sk sifRmm-snuiRa pn Sevm & g ag _____gidi 81

Ans X A mrgshigadieR, Agedier
X B. g, g
X C. AR, TR
o D. iR, AresgRd

Question Type : MCQ
Question ID :
Status :
Chosen Option :

Q.7 T siarur fRw (Rfew ciaws () @ suai fraferg farar sirar 82
Ans X7 A SR aRuY @ e e & frg

Q' B. UPS 3R H&7 UTeR & &9 YR & &89 &z & folg SR 9R ot i faed ol Sy et &
el
K C. UPS iR T (3) TTeR 3 dr 1R (1) R v & g .

2% D. wR o gia gl &Y Sl o & o

®

Question Type : MCQ
Question ID : 673502608
Status : Answered
Chosen Option : 2
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Ans 5 a1 KO
e O
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Question Type : MCQ
Question ID : 673502612
Status : Answered
Chosen Option : 3

Q.9 is the amount of noise spike that the logic gate can withstand.

Ans X A. Noise bandwidth

X B. Noise directivity
( C. Noise margin

X D. Noise effectivity

Question Type : MCQ
Question ID : 673502647
Status : Answered
Chosen Option : 4




Q.10 = & & &9 91 HYA VY 37 dieest ciawrR (afRonfas) & deia & 9« &2

Ans X A. aRonfEs & 3Age 9T § a1 Y TR, AReYe U & Il hl T & SRR gt 81
X B. uRonfas & gqe it & gt () & T, 3rseye Wi & adl dh e § ifde gt 21
X C. ad= i g ofR dieed & o R v ey d g 81
of D. aRonfar & amaee v & o B wiReT, $ge T 3 A B e @ orfir gt 21

Question Type : MCQ
Question ID : 673502616
Status : Answer
Chosen Option :

Q.11 weTEnT & Y s fafSies e @1 s et a1 ey fRefefR@a d d s aradi g?
Ans X A Rfree et ohl GeRol aR e g1l &

o B. Rfeet Ryt it o w Ryveiet s oy argafy 781 23 81

X C. RfSieet Rivrer oifis Gl 812 & o & 9 & aifdorea i g &1

X D. RfSieet Rieret o Sefrgy a1 3o & &1 L

P Question Type : MCQ
Question ID : 673502638
Status : Answered
Chosen Option : 2

Q.12 U sl faed & " #, UPS o1 gof &u wrar
Ans X" A Unified Packed System (Zfitigs
( B. Uninterrupted Power Supply (S#E

< C. Useful Power Sup ST, UTer

X D. Unit Power Syste

Question Type : MCQ
Question ID : 673502601
Status : Answered
Chosen Option : 2

Q.1 # & o |1 oref Tistan (half adder) @1 gl @veh of disTe & wraf<a+ & o smaas

Ans .3AND g, 1 OR e
2% B.4AND 7, 2 XOR e
o C.2 AND g, 2 XOR e, 1 OR e
#< D.2 AND e, 2 XOR i

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502649
Answered
3




U R & @ Fl @ RieeT T 3cHA PNP gifeeet A & e a@ 32
Ans A VE> Ve > Vi

W B VE<Vg < V¢

X CVg=Vg<Vc

XD VE<Vp>V¢

Question Type : MCQ
Question ID : 673 25

Status : Answ

Chosen Optio

Q.15 Which of the following is NOT a type of heat sink categorised by the manufacturing process?
Ans X A. Forged and die cast heat sinks

“ B. Pumped liquid heat sink

X C. CNC machined heat sink g
x D. Zipper fin heat sink
®
Question Type : MCQ
Question ID : 673502633
Status : Answered
Chosen Option : 1
Q.16 amesef uRonfam & forg, g9 mufaew effast Fdaufata_____ @
gyl
Ans x A.
X B.@H
K C.afde
Vo
Question Type : MCQ
Question ID : 673502621
Status : Answered

Chosen Option : 1




Q.17

Ans

& T Y F aemma )
fem amar &:

Vee=0.65V,
Veo=22.5V,
R.= 5.6kQ,
Re= 1kQ,
Ry = 90k,
Ry= 10kQ,

B =50, '
lo AT FI ‘2:>b
X A 1.38mA C)

XD 1.5

AN

o
/\O

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502669
Not Answered

Q.18 A

Ans

25 B.2mA
W c 133

the following logic families in terms of increasing delay.
25 A.DTL<TTL < CMOS < RTL
o B.CMOS > DTL >RTL > TTL
#< C.CMOS < TTL <RTL < DTL

#< D.TTL<RTL < CMOS < DTL

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502646
Answered
2




Q.19 <r1ifd Teh it 21T & 7 3R T ST aiar Asfa= & 1Y wies it or 31Tk Ran & ag
SRR AR gE ok it it & g1 7 § S oft avg Suerey T8 o1 SRl aRega | @i=-
arfehen e Tfehar &) Tahfaa forar mar &2

Ans

/< A.NOT
75 B.NOR
o C.AND
/5 D.OR

Question Type : MCQ
Question ID : 67350

Q.20 ST faega IUvUT i 2Afth Tid A U - & SR, faega 2af~h ol vearaed! o s wia @
foreft Suenzor aT o H TR AT &, 9t g/ T SueRRul/ ek Rt SUANT AT =R e?

Ans

5 A R®
/X B. Ry

o C. i (geraa) aRonfis
25 D. 21Tk Juahor (difer fearsa)

Question Type : MCQ
Question ID : 673502623
Status : Answered
Chosen Option : 3

Q.21 AC @ DC affaufaa fReerrd uRua

Ans

75 A SR woft
/X B.BJT

W C smie '
/5 D.SCR

AN

ﬁ@@awm(ﬁma)ﬁnﬁﬂaﬁqm?ﬂ

Question Type : MCQ
Question ID : 673502605
Status : Answered
Chosen Option : 3

Q22 9

Ans

TuTe) fa=amy a1 IuEhT Srfderar

U A gar gl

x A. uRad 4rT Hia (variable current source)
x B. 3maRkad! 4T & (constant current source)
x C. 1<k yasfes (power amplifier)

“ D. dieesT I yaefeh (voltage buffer amplifier)

Question Type : MCQ
Question ID : 673502667
Status : Answered
Chosen Option : 2




Q.23 1-fe gafs (FIFR) & fog, smeege fRAfA A=B,_____ Fagargiit gl
Ans X" A AND G

o B. EX-NOR trae

75 C. XOR tharsr

/< D. OR thaer

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502651

Q.24 Which of the following circuits is necessary to control constant voltage at the output of UPS?

Ans X" A RC snubber circuit
« B. Sensing and feedback circuit

x C. Isolation circuit

x D. Rectifier circuit L
® Question Type : MCQ
Question ID : 673502604
Status : Answered
Chosen Option : 2
Q.25 ___, =f ywiweneor (g8 wifE) 6 v vl g, Tehdl & fAReR ofik awa-fa=
a1 & R-sifaeardt srad al d fRafsa g Sroft &t sifgda A=
fAfée forg wma &1
Ans  off A FEifdm
/X B. wifeim
/X C. g
/X D.gi
Question Type : MCQ
Question ID : 673502639
Status : Answered
Chosen Option : 2
Q.26 @ fore udieror ugfa o1 Sugi afkonfas & wis a1 (@R @) &t #ra+ & g far sran
&?
Ans X A AR s adtaror
75 B. wiaw wdern
o C. Riga Greeht dteear wtamor
75 D. g greeht dleedr wdtaror
Question Type : MCQ
Question ID : 673502622
Status : Answered
Chosen Option : 3




Q27 3o afy srie & fore Forder ifwoer YRT SO (IEC 60134) ¥ 3R[ER, o areene &

dFaE AT @
Ans 5 A 300°C
W B.200°C
& c.250°C

5 D.350°C

Question Type : MCQ
Question ID :

673502658

Q.28 forelt Il St A= a |, iqe 1 # sRoT gl 81
Ans X" A Turee SR Tt

o B. sneR ofR ST

X C.enyr ik TurEesw

27X D. Ieusien 3k TurEsh

®
Question Type : MCQ
Question ID : 673502665
Status : Answered
Chosen Option : 2
Q.29 IC74LS83,gsh @I V
Ans  off A 4-fe e gof e
X B. 2-fe smgd gof
X C.2fe e
X D.4fRe
Question Type : MCQ
Question ID : 673502652
Status : Not Answered
Chosen Option : -
Q.30 “eahl &t EIA/JEDEC EIA-370 Tat vomell & Iq9R, afe ugeht e 2 &, at ag garfar
gfraes, 21
Ans X A e
W B. Ryt cifreR o warer e £ warma (Rier e fies 3ihae) gifdeR
25 c.LeD
X D. 2 e & g (S e thies 3thae) gifreeR
Question Type : MCQ
Question ID : 673502654
Status : Answered
Chosen Option: 4




& 718 Iy & oi-ate &g el (Tor 39 o W) & fT, v, & uens 89 & o
el I F 3T 0% T B 9T 2 5 g 82

Ans

Question Type : MCQ
Question ID : 673502660
Status : Answered
Chosen Option : 4




Question Type : MCQ
Question ID : 673502617

Status :

Chosen Optio

Question Type : MCQ
Question ID : 673502620
Status : Answered
Chosen Option : 1

Q.32 From the given options, identify the FALSE statement about transformers.
Ans ( A. Laminated cores are used for high-frequency and ferrite cores are used for low-
frequency operations.
X B. For high-frequency operations, the AWG of wire should be less to compensate for
skin effect.
X C. The copper wires wound around the bobbin are insulated.
x D. Ferrite cores are used for high-frequency and laminated cores are used for low-
frequency operations.
Q.33 Why is the laminated core stacked in the bobbin of a 50Hz transformer?
Ans « A. To reduce eddy current losses.
x B. For ease of installation.
X C. To operate at a high frequency.
x D. To carry the flux. PN
Q.34 iR &FAfR{e:t & argwm o ghar g, sit I
Ans X' A el RO

2% B. Faet erfreHh 0
o C. e,
< D. aw

Question Type : MCQ
Question ID : 673502664
Status : Answered
Chosen Option : 3




stérnémﬁra;rmﬁla{mgzs, & S 2l

A

DS =

Ans XA-l 0
vesAB+AB ‘ |
< cAB

*

X 0. AB

® Question Type : MCQ
Question ID : 673502648
Status : Answered
Chosen Option : 2

Q.36

Question Type : MCQ
Question ID : 673502634
Status : Answered
Chosen Option : 1




Q.37 Arrange the following logic families in terms of increasing speed power product.

Ans X" A CMOS >RTL >DTL > TTL
#< B.DTL<TTL < CMOS < RTL
25 C.CMOS <RTL<DTL<TTL

o D.CMOS < TTL <RTL < DTL

Question Type :
Question ID :
Status :

Chosen Option :

MCQ
673502642
Not Ans

Q.38 ____ 9&fSi, gia afthe 1< 6 wag R Hd geawl Hl Ake A a1 7@+ i aonefie 1 are=
et &l

Ans X7 A ST

( B. TRhY AT
C. Hiess 31
< °
X D. @A
® Question Type : MCQ
Question ID : 673502632
Status : Answered
Chosen Option : 2
Q.39 oRT@fed a1 B & AR & hia-a1 fRereu adl 7g 22
Ans o A Tg SR URT R T aRT @ |
< B. T gifSrex oh viarefeh grerell ol Ueh TR |
forg, gifSreer ot AT B & T g ST =R
Question Type : MCQ
Question ID : 673502628
Status : Answered
Chosen Option : 4

Q.40 el o 3 g7 T (collector)-3cESF (emitter) dreeaT F 5 V ¥ 10 V T F@rd £ A
3 mA T 4 mA TF TEadl ¥ 5T HETE Siad T 0T Hi
Ans  of A SKQ
XB350Q
Xcs5Q
XolsQ
Question Type :
Question ID

Status

Chosen Option :

MCQ

: 673502630
: Answered

1




Q.41 faferei= srte & forg wkaS ef i al’sT ____glar @1

Ans X A2V
X B15V
W co7v
X D03V
Question Type : MCQ
Question ID : 673502657
Status : Answer
Chosen Option :
Q42 v (pn) s S/EIE & foT aiafefad s WK (potential barrier) (Vy), &9 &
ST el £
(Are:

Na = T SARTB0T (TeiceT S,

Np = &TaT HafABT S+ Sk,

n; = S0 HIIAT FEERE (intrinsic carrier concentration),
V, = 98 dIec (thermal voltage)

Ans « AV iﬂ(% P \OQ

i
X BV,
< ¢ NyNp

Question Type : MCQ
Question ID : 673502655
Status : Answered
Chosen Option : 1

00

Q.43 % foIQ aga @ #rees ATuE ST & SuE R s g1 e A @

Ans

Question Type : MCQ
Question ID : 673502629
Status : Answered
Chosen Option : 2




Q.44 freht Ivafs enuR fa=ara # wftha prp gife= & fog ____ 1

Ans X A R GuTeeh § HaTfed gt @ ok URT Ieisien 3R TuTEeh @ Feherd @
o B. R Seha F v gt & o uT R ok wuTed @ P &
X C. urr ST 3R A1 € Gy Wurgeh & verfed gl € 3R URT SR @ Feherd!
X D. 41 YR & warfEd gt @ iR 4RT Segsien 3R GuTedh @ Feherd @

Question Type :
Question ID :
Status :

Chosen Option :

673502666

McQ

Q.45 Transformer utilisation factor for a one-diode half-wave rectifier is:
Ans X" A 0953

o B.0.287
X c.0812
#< D.0.955

*

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502662
Not Answered

Q.46 feft CFR aferterss & dieht, dwreht, wrer 3k grgd a3
A A R

Ans X7 A 47K

W B.47K
X c.470K

(&) &1 39 uferdteas &t

< D.740K
Question Type : MCQ
Question ID : 673502615
Status : Answered
Chosen Option : 2
Q.47 TYF & T ASCll s R d ST arg?
Ans . AT T 33
2% B. zamer T 35
“ C. gemeTa TeT 32
2% D. aumera T 34
Question Type : MCQ
Question ID : 673502644
Status : Answered
Chosen Option : 3




Q.48 af wreftus F g 2w (Wiee) & A sreftues areg (R oif) 78 @t < &, &t W Sty e 22
X A 3 Rfena Re) 2

X B. & Titr (@aer) e @

< C. &8 sFmRa () 2

o D. S et # @ Y ot

Ans

Question Type :
Question ID :
Status :

Chosen Option :

mcQ
673502606

Q.49 =1 & & &= a1 frened awiaR disTer & deof 7 9t 78 82
X A quf i &) T s W feis S STl 81
o B. sifoRerm ot uof @ 3 g smavas @, et 6 wren R FsR Rt 1

X C. &8 GiET ot 37eh g a1 deh T €Y €1 STel deh foh U alTeh 70T SHTRRA
&l

Ans

L
2% D. 7 Aoft dwtent &) ger & A g 81
¢ Question Type : MCQ
Question ID : 673502650
Status : Answered
Chosen Option : 4
Q.50 When a transformer designed for 50-Hz operati d to a 60-Hz frequency supply,
what is the effect?
Ans X" A Output voltage increase
X B. Output voltage re ion
X C. Input current incre,
Question Type : MCQ
Question ID : 673502619
Status : Answered
Chosen Option : 1
Q.51 @ fored wanfera ateear Rrd=or uges glar 82
Ans A. sifters UPS
5 B. Ry ot Rieed
o C. e sefRa ups
< D. siferg UPS
Question Type : MCQ
Question ID : 673502603
Status : Answered
Chosen Option : 4




Q.52 48 V DC ateear uTea e 3 Forg, Pt F @ Ry wraitor (a¥are1) o ST g afee?
X A guicR # 5t g8 12 V & IR 38

X B.Aof A e g5 12 V & 3 3l

X C.amieR # i g€ 12 V &l 316 3l

o D Soft A SEigE 12 VA AR

Ans

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502607

Q.53 Power BJTs have on-characteristics and have at turn off.
Ans X" A bad, short switching times
X B. good, short switching times
X C. bad, long switching times
« D. good, long switching times .
® Question Type : MCQ
- Question ID : 673502672
Status : Answered
Chosen Option : 2
Q.54 Which of the following configurations is mainly used in wi very high frequency and
ultra high frequency amplifiers?
Ans X" A Common emitter amplifier
« B. Common base amplifier
X C. Common collector a
x D. Common rce 3
Question Type : MCQ
Question ID : 673502668
Status : Answered
Chosen Option : 2
Q.55 7 4fRegafTiIc &2
Ans .LM358
& B.IC741
X c.1c747
o D. 741585
Question Type : MCQ
Question ID : 673502653
Status : Answered
Chosen Option : 4




Q.56 IGBT @& dHafdra AT & @ ol 91 = I 1di &2

Ans X A Tt TR dehien] o1 SUTNT ek, IGBT dehg] feheiiedy deh dhl STgfia wR uRerferd gt

Hehdl 51
of B.IGBT & & sifts @, MOSFET @ aifirer a1 € 21
25 C. TR iz Ierfen diedt, Sxies dies @ A gl &, @ IGBT 3ifes fAf & ghar &1
< D. a1 57, Ak MOSFET & wiget aifieh et &1

Question Type :
Question ID :
Status :

Chosen Option :

Q.57 A= d @ ud) (3) & 1 o1 I T1 3rehA, 220 K ufeRters & 714 @) s @war 8?
Ans X" A ST - e - g3

< B AR - A - o

o C. e - are - e

L
25 . araft - At - e
¢ Question Type : MCQ
Question ID : 673502614
Status : Answered
: Chosen Option : 3
Q.58 MOSFETH ___ =1 RufRa skt gl 81 %
Ans  of A 500V C)
X B.25ov '
< c.100v :
#< D.1000V
Question Type : MCQ
Question ID : 673502674
Status : Answered
Chosen Option : 1
Q.59 7 gif, aRonfa= s & @Ra (vefoe) 8- wr graw gidt 82
Ans . feeRfew
< B
o C FRur
F K
Question Type : MCQ
Question ID : 673502618
Status : Answered
Chosen Option : 3




Q.60

coefficient) giaT &1
Ans X" A are fhew
K B.urg e
X Camamte
o D. e Fitfdie

ufertey, TSt (e smarst # a) gid & SR 3779 31 a1 uTich (temperature

Question Type : MCQ
Question ID : 673502
Status : Ans'
Chosen Option :

Q.61 iR & srqe et @ifSies aiRer 6 vgam &)
Ans X A st gifSreR wifie

X B gt giforee wiffore

o C. @i giftre gifore @it

5 D. R giforer S

482 10K o wfesrr & 5 10 V DC
Ans XAIDA

B 1 mA 0
X c 10 mA

X 0.10040A

*

Question Type : MCQ
Question ID : 673502640
Status : Answered
Chosen Option : 3

T F AT AT FL

Question Type : MCQ
Question ID : 673502609
Status : Answered
Chosen Option: 2




Q.63

I ¥ Heas (BT #eas) & v seqe a6 w9 gar forifea @ 8
Ans v

10V

ol 1 !
2
.
5V
xe '
o] r ‘ ®
2
v ’ !
10V ) :
X c
il T T 1 '
2
II] @
v - o § Y
D.
0 T '

Question Type : MCQ
Question ID : 673502661
Status : Answered
Chosen Option : 3

Q.64 JK foera & ffia _____ ¥, at 399e & 91U dhas Gohe $9E glaT g1 39 fAmfor J-K
TATY oh 1 §9YE et Gehed 399C & ©U A Teh 1Y Sitea fohar mam g1

Ans . ZIRa () SR Rru wifg
o B. T R
X C. SRR wifg
X D. gl () JK iR weifa

Question Type : MCQ
Question ID : 673502636
Status : Answered
Chosen Option : 4




Q.65 fr=faif@a adh uRari ot 3t a<fam ara-2fth & srgaR =afeda w2
ECL, TTL, CMOS
Ans X" A TTL < CMOS < ECL
#< B.CMOS<ECL<TTL
o C.CMOS < TTL < ECL

&% D.ECL<CMOS<TTL

Question Type :
Question ID :
Status :

Chosen Option ;

Q.66 uTeR e gfg A & fAQ utar MOSFET # T IuTT e STraT g1
Ans X A. FUTTcH UfaRie 39 (negative resistance channel)

£ B. ft Aet TR (horizontal channel structure)

X C. fgggdt Sia—m €= (bipolar junction structure) ®
« D. 3:&afeR et TR (vertical channel structure)
®
Question Type : MCQ
Question ID : 673502670
Status : Answered
Chosen Option : 1
Q.67 _____¢ifSiwex ¥ uarg ¥RT Gehaeh (collector) | emitter) efffe1 ek vanfaa gt
H
Ans X A PNP '
< B.PPN :
o C.NPN
25 D.NNP
Question Type : MCQ
Question ID : 673502627
Status : Answered
Chosen Option : 3
Q.68 IGBT®.____ it ¥s amgfa gidt &1
Ans X" A 500 Hz
o B.20KHz
X C.1MHz
25 D.1GHz
Question Type : MCQ
Question ID : 673502675
Status : Answered

Chosen Option :

1




Q.69 TH.IR. (SR) & Qeh fANT UhR T Sigechifcoieh IUhvUT gHaT & STt FReisror Hahal o forg sremT &
T T &1 T S-3aUT 3R R-gAYe R AR &wvar 81 wH.9MR. (SR) @ &t _____ NOR dte/aet
T THIF U FAFH A SIS I ST &

Ans x A TH
X B.=R
o ca
X D.d=
Question Type : MCQ
Question ID : 67350
Status : Ans'
Chosen Optio
Q.70 weir 5k 3 &t wfay 3l T A F A Aok F @ F AR A A s A, A
Seear fasmere aftwer $r seeqe dSecar FT gE?
Q :
‘ O
Ans A1 d@ee \
54 dee
X c2dre \
X 0.0 ae C) |
Question Type : MCQ
Question ID : 673502610
Status : Answered
Chosen Option : 4
MOSFET & fag, 5@t _____ &t & Tanfera fran s anfagl
Question Type : MCQ
Question ID : 673502671
Status : Answered
Chosen Option : 2




Q.72 fr=faf@a gamea &t ... (BCD) wvts # uRafda &3 55.

Ans X" A.10101010

< B.010101

X c.o1110111
o D.01010101

Question Type :
Question ID :
Status :

Chosen Option :

McQ
673502643

Answer

Q73 s ye3% 10 kO & & iR # @A & SEr S §, @ GAged gy = gem?

Ans A 10 kQ
X B20kO
c.15kQ
x L
W05k
Question Type : MCQ
Question ID : 673502611
Status : Answered
: Chosen Option : 4
Q.74 3= faereal & & i ufRiers &2 %
Ans XA wffer 0
o B. S @it '
X C. Remrd :
25 D.LDR
Question Type : MCQ
Question ID : 673502613
Status : Answered
Chosen Option : 4
Q.75 7 HUF AT 87
Ans Ucftueh Y ShiFd GHT UTeR & UPS @ & gt 81
2% B. weftueh, wemardf &1 (AC) @t e @1 (DC) & uRafifd e &, siaifh UPS, DC &Y AC &
gRafdd &=ar g1
“ C. e [aeed 9 wifde (fehfeener) WR uRkared & forg Udiues &t ge=i & UPS @t siferen
urfAeRdT &) STt g1
X D. ST 7 g sz g Siredt @, ot weduen W (efte) 89 e @ & forg erTsnT 500 el dehe
I I AT &, Safeh UPS T fireht Yehe ot 993 AaT &1
Question Type : MCQ
Question ID : 673502602
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude and Logical Ability




Q.1 ag ferea g it e e @ St vorR H@6fl 8, e uaR oot Hean ueet demn @ w@afda
gl

49:6:100:?
Ans XA-B
WBo
/5 c.10
X D

Question Type : MCQ
Question ID : 673 83

Q.2 = fi= dfkat A, B 3k C & 7 & e dead &1 freft iRk &Y deeatd siruw & &k <t wepe
Tafda & 519 fF o=y ditral Y ST enmuy & Sefda 1 dee o1 fasawor 2 ok fiw e
freredt & & I T &1 99 &R, St Utk C & vsaras Rig (?) & T R o1 Gahdl g1

Question ID : 673502684
Status : Answered
Chosen Option : 2

p o
O Question Type : MCQ

Q.3 aiftfe Tehgfg % 3 : @ 3 gt & g g RAfga afy o1 asrgfs samst
2 & 3 mmaﬁtmaﬁmﬁh% at gt Al S s R R

Ans

Question Type : MCQ
Question ID : 673502680
Status : Answered
Chosen Option : 1




Q.4 IS Y-RTA FTLROT =TT HY IAE &2 W= 5 a6l & a1 319,600 3R 8 auf & arg 324,010 & St
g1 ufa adf surst Y <R wira fif|igl

Ans <" A 15%

o B.12%

X c.8%
25 D.10%
Question Type
Question ID
Status

Q.5 Ry g el d | ag Hwen g7 ot Rmafaf@e jaen § usiRg (7) & w9 R serft?

220,216, 200, 164, ?

Ans  of A 100

Chosen Option :

. MCQ

1 673502
: Ans'
2

B. 132
~< ®
X co14a
< D121 P
Question Type : MCQ
Question ID : 673502682
Status : Answered
Chosen Option : 1
Q.6 o 3 L
T gEIER 3O T 1 - e 16% 3R A T2 F 20% H @ T q=T ) A
SHH FoA A AT Fe Tl &
Ans
o A T 6.25%
Question Type : MCQ
Question ID : 673502676
Status : Answered

Chosen Option :

1




Q.7 Qe AR Y 3R FART &t Y FAT A Fgl, " AR gehedla A& Y gehaitell ¢t & frar §1" awefie &t
aafeh gae @ & wefa &2

Ans X A o
/< B.amE
p R
W 0.3

Question Type : MCQ
Question ID : 673502
Status : Ans'
Chosen Option :

Q.8 af 8- ATg & TAehgfey AMTUR TR saTST Y 7uTT fi SITelt &, At 15% ufer aef hir &= & 2 ot & g
7,700 i A a1 Tehgfg samst (3 #) @1 ghm?

Ans X" A 2,678.90

75 B.2476.50
/5 C.2,387.60 g
o D.2548.70
®
Question Type : MCQ
Question ID : 673502679
Status : Answered
Chosen Option : 4
Q.9 af FHT a1 wrTa g 21,680 @ @t 2T i i #) = @A TRy, arfes sifehd
T UR 16% Y e & & arg it 18% &1 g
Ans X" A 2500
o B.2360
75 c.2450
/5 D. 2250
Question Type : MCQ
Question ID : 673502677
Status : Answered
Chosen Option : 2
Q.10 fg # & 39 "1 &1 99 H, Sit e Sioft J vsarae Rig (7) & T W o Hahedt
gl

493,491, 495, 487, 503, 471, ?
Ans  of A 503

75 B.490
/X C.a42
75 D.420

Question Type : MCQ
Question ID : 673502685
Status : Answered
Chosen Option : 1




Section : General English

Q.1 Select the most appropriate option to fill in the blank.

She was in such
Ans X" A No article

«B.a
X C.an
x D. the

hurry that she left without breakfast.

Question Type : MC
Question ID : 6735 8

Q.2 Select the most appropriate option to fill in the blank.

Ans X A Their

X B.That
“ C. These
X D. This

books that you have borrowed from the library are new editions.

®

Qo

Question Type : MCQ
Question ID : 673502689
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate‘optiol

fil
the Principal, some t we

Ans X A. Amon

o B Bgsid

Alo

Apart

present in the meeting.

Question Type : MCQ
Question ID : 673502690
Status : Answered
Chosen Option : 2




Q.4 Select the most appropriate ANTONYM of the given word.

Worthy
Ans X A. Lazy
{ B. Dishonest
X C. Noble
X D. Decent

Question Type : MCQ
Question ID : 67350
Status : Ans'
Chosen Option

Q.5 The following sentence has been split into four segments. Identify the segment that contains
a grammatical error.

Neither the manager / nor his assistant / were capable of / handling the business.

Ans  off A were capable of
L
X B. nor his assistant
x C. Neither the manager PN O

X D. handling the business.

Question Type : MCQ

' Question ID : 673502687
Status : Answered
: Chosen Option : 1
Section : General Awareness

Q1 Faddfmaaisfia -20,3i forche &= Qe T ur?
Ans XA wuRd

X B

Question Type : MCQ
Question ID : 673502694
Status : Answered
Chosen Option : 2




Q.2 ol d @ fradh swart d wRe 3 FormereyR & 1975 # smaifSia yew gihl fagy wu &t
Sftar am?

Ans X A Teri Rig iR
X 8. o Rig
o C. e o Rig
75 D. mursha Rig

Question Type : MCQ
Question ID : 673502
Status : Ans'
Chosen Option :

Q.3 1fRAdeR 2012 ae witer 91 & fhaft W siggfRa snfa [SC] & weifda aafral & g emefaa
off?

Ans x A.92

/X B.47
/X c.63 g

o D84

Question Type : MCQ
Question ID : 673502697
Status : Answered
Chosen Option : 4

Q.4 Tt AnTes T wR R fafY Y Fad aemga -3 A1 & gU g A it B

(aFitof) a1 Y g o2
Ans X" A 205 1757
/X B.215F 1757
75 Cc.225 1 g

7

o D.23

Question Type : MCQ
Question ID : 673502692
Status : Answered
Chosen Option: 4

Q.5 A=A fra 1950 # sreusizeges afafa i sregerar Y aur wRa HY @fu= gar § R-dret-
3feg=r $argal o ufafafda famar?

Ans X A Sreeife puTRETH SR
75 B. 3R, sdear
(C.EQ-?:W&'@GW
75 D.%. wm. gsh

Question Type : MCQ
Question ID : 673502696
Status : Answered
Chosen Option : 2




Q.6 STERt 2021 #, A¥ehiA & TgalT & fhw wog A FY emarsii ol gerar 37 & fog sifvea
‘fEfhfAae RSt srutRea Tt @1 gdr s & fArg s thaes et s forar 87

Ans  of A G
75 B. arfemRer
p o
#< D.7eRIg

Question Type : MCQ
Question ID : 673502
Status : Ans'
Chosen Option :

Q.7 39 TeATicheR i a1 917 T @ o1t 0 @ #i=h 9, ofiz o7t IR WRa & ufw eriele & gad
uflrg af & @ ger &2

Ans X A Td sedRer

75 B.¥agEm
 C. G R g
75 D. wia gereier
®
Question Type : MCQ
Question ID : 673502698
Status : Answered
Chosen Option : 1
Q.8 argHsw Fi HaH Agayul R ‘e ( ) &t Tag @ 3id Far & 8?
Ans X" A 25km
o B.13km
X C50km o
X D10k
Question Type : MCQ
Question ID : 673502691
Status : Answered
Chosen Option : 3
Q.9 ZRT 3R Vg Aarsd Titricher fha 3g2a @ = v mam am?

Ans  off ‘A Gt ot BRIFETRE T & SR @ SR g § Ter a & g
X B. aiit Y roream gfere R Y e urd # wem 7 & Rl
< C. it ot e et FRfdt 3  Samarht 33 & g
/X D. aramara oftg & deiy & Stet 34 & farg)

Question Type : MCQ
Question ID : 673502700
Status : Answered
Chosen Option : 1




Q.10 T srigte 3R IqH URY g & avf & ey J 7 & & o |1 g7 7Tera 82
Ans  off A e TE Sic - 1914

2% B. SIGENT affeter - 1920

2% . sl sram siider - 1930

< D. T Sffcier - 1913

Question Type : MCQ
Question ID : 673502693
Status : Answereds
Chosen Option : 1




